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Let’s	
  do	
  a	
  problem	
  from	
  your	
  warm	
  up	
  in	
  a	
  generic	
  in	
  pairs.	
  

215	
  x	
  57	
  

How	
  do	
  I	
  write	
  215	
  in	
  expanded	
  form?	
  (200	
  +	
  10	
  +	
  5)	
  	
  How	
  many	
  rows	
  or	
  columns	
  will	
  I	
  need	
  for	
  this	
  
factor?	
  (3)	
  	
  Why?	
  (Because	
  there	
  are	
  3	
  place	
  values.)	
  How	
  do	
  I	
  write	
  57	
  in	
  expanded	
  form?	
  	
  (50	
  +	
  7)	
  How	
  

many	
  rows	
  or	
  columns	
  for	
  this	
  factor?	
  Why?	
  (Because	
  there	
  are	
  2	
  place	
  values.)	
  	
  So	
  my	
  generic	
  rectangle	
  
will	
  by	
  3	
  by	
  2.	
  	
  Draw	
  it	
  and	
  write	
  in	
  the	
  expanded	
  form	
  of	
  the	
  products.	
  

	
  

	
   	
   	
  

	
   	
   	
  

	
  

What	
  do	
  we	
  do	
  next?	
  	
  (Find	
  the	
  partial	
  products)	
  

Work	
  with	
  your	
  partner	
  and	
  find	
  the	
  partial	
  products.	
  (lower	
  affective	
  filter)	
  

Have	
  students	
  share	
  out	
  the	
  partial	
  products	
  and	
  complete	
  the	
  generic	
  rectangle.
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You	
  try	
  3ways:	
  

217	
  x	
  43	
  

	
  

	
   	
   	
   	
  	
  	
  	
  	
  	
   	
   	
   	
  

	
  

	
  

	
  

	
  	
  

	
  	
  	
  Partial	
  Products	
  

	
  	
  	
  	
  	
  	
  	
  217	
  	
  

	
  	
  	
  	
  x	
  	
  	
  43	
  

	
  	
  	
  	
  	
  	
  	
  	
  21	
  	
  	
  	
  (3	
  x	
  7)	
  

	
  	
  	
  	
  	
  	
  	
  	
  30	
  	
  	
  	
  (3	
  x	
  10)	
  

	
  	
  	
  	
  	
  	
  600	
  	
  	
  	
  	
  (3	
  x	
  200)	
  

	
  	
  	
  	
  	
  	
  280	
  	
  	
  	
  	
  (40	
  x	
  7)

	
  


